
www . r ema c o t e c h . c om     r ema c o@ r ema c o t e c h . c om     T e l : 6 366 9266     F a x : 6 366 9280  • • •
SMS ­ XXX Product Series 100  (Trolley And Stand) (Floor Mount) 200  (Ceiling Mount) 300  400  (Wall Mount)Number of Panel/Module (in height)Number of Panel/Module (in width)

** Illustration Pictureof SMS­422

Wall Mount (SMS­400 Series)Installation Guide / Manual (Systems Mount Solutions) V: 1.0C COPYRIGHTS 1998     REMACO TECHNOLOGIES PTE LTD                                                                                       



A (x1) B (x2)
D (Joint Connectorx3) E (x12) F (x2) M8x10 (x2)G H (x2)

A D

3mmE

Extend the Rail 2000

H

Install the End Cap

B

C

GF

Cable Management

C (x4)

www . r ema c o t e c h . c om     r ema c o@ r ema c o t e c h . c om     T e l : 6 366 9266     F a x : 6 366 9280  • • •

Rail L2000



www . r ema c o t e c h . c om     r ema c o@ r ema c o t e c h . c om     T e l : 6 366 9266     F a x : 6 366 9280  • • •

A (x1) M8x12 (x4)B C (x4)

Attach Rail Wall Mount to the Rail L2000
C

5mm
A

B

W­A (x4) W­B (x4) W­C (x4)

Rail L2000

Rail Wall Mount



A (x2)

Package M
washers (x4)M­F  small spacers (x8)M­G big spacers (x8)M­HM8x50 (x4)M­E

M5x14 (x4)M­A M6x14 (x4)M­B M6x30 (x4)M­C M8x30 (x4)M­D

Attach Arm L400 Adj
D

With the arrow pointing up.

Top of the display

M­A M­F M­B M­F

 a. Attach Arm L400 Adj to Flat Back Screen
TV TV TV

www . r ema c o t e c h . c om     r ema c o@ r ema c o t e c h . c om     T e l : 6 366 9266     F a x : 6 366 9280  • • •

Arm L400 Adj (Option 1)



TV TV TV

· Choose the appropriate screws, washers and spacers (if necessary) according to the type of screen.· Center the adapter brackets on the back of the display as shown, and screw the brackets onto the display, being sure to not over­tighten.

b. Attach Arm L400 Adj to Irregular Back Screen

M­F
M­G

M­CM­D M­FM­CM­D

M­H

M­FM­CM­D

M­HM­G
M­FM­E

M­HM­G
M­FM­E

M­HM­G
M­FM­E

M­H

Hang the Screen and Micro­Adjustment
Z

XY
Z AXIS Adjustment Knob for Height Adjustment / Screen LevelingY AXIS Adjustment Knob for Depth Adjustment

Z

Y
Y

www . r ema c o t e c h . c om     r ema c o@ r ema c o t e c h . c om     T e l : 6 366 9266     F a x : 6 366 9280  • • •



A (x2) B (x2)

Package M
washers (x4)M­F  small spacers (x8)M­G big spacers (x8)M­HM8x50 (x4)M­E

M5x14 (x4)M­A M6x14 (x4)M­B M6x30 (x4)M­C M8x30 (x4)M­D

Tilt Adjustment

With the arrow pointing up
ATop of the display

0 ° ­ 5 °

­ 1 0 ° ­ 1 5 °

­ 2 0 ° , ­ 1 5 ° , ­ 1 0 ° , ­ 5 ° , 0 °
A

­20° is the natural angle and the safety pin is unnecessary.

Attach Arm L400

www . r ema c o t e c h . c om     r ema c o@ r ema c o t e c h . c om     T e l : 6 366 9266     F a x : 6 366 9280  • • •

Arm L400 (Option 2)



www . r ema c o t e c h . c om     r ema c o@ r ema c o t e c h . c om     T e l : 6 366 9266     F a x : 6 366 9280  • • •

TV TV TV
a. Attach Arm L400 to Flat Back Screen

TV TV TV

· Choose the appropriate screws, washers and spacers (if necessary) according to the type of screen.· Center the adapter brackets on the back of the display as shown, and screw the brackets onto the display, being sure to not over­tighten.

M­CM­D
M­HM­G

M­CM­D

M­E
M­HM­G

M­E
M­HM­G

M­E
M­H

M­CM­D
M­HM­G

b. Attach Arm L400 to Irregular Back Screen

Secure with Padlock

B

4mm


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

